

9/25/2015

Legendre: $\frac{d}{dx} [(1-x^2) \frac{dP}{dx}] + l(l+1)P = 0$

series $\rightarrow l = \text{integer}$ $\left(\sum_{j=0}^{\infty} a_j x^j \right)$

$$a_{j+2} = \frac{j(j+1) - l(l+1)}{(j+1)(j+2)} \quad (3.14)$$

$(j \rightarrow j+1)$

$P_l(1) = 1 \rightarrow$ specified.

Somebody:

$$P_l = \sum_{k=0}^{\lfloor l/2 \rfloor} \frac{(-1)^k}{2^k k! (l-k)!} \frac{(l-2k)!}{(l-2k)!} x^{l-2k}$$

(verified.) ✓

$$\frac{d^l}{dx^l} (x^{2l-2k}) = (2l-2k)(2l-2k-1) \dots (2l-2k+1) x^{2l-2k}$$

$$\frac{(2l-2k)!}{(l-2k)!}$$

$$P_l = \sum_{k=0}^{[l/2]} \frac{1}{2^l} \frac{1}{l!} \cdot \frac{l!}{k!(l-k)!} (-1)^k \frac{d^l}{dx^l} x^{2l-2k}$$

$$= \frac{1}{2^l} \frac{1}{l!} \frac{d^l}{dx^l} \sum_{k=0}^l (-1)^k \frac{l!}{k!(l-k)!} x^{2(l-k)}$$

(Ziffern k's $\rightarrow 0$)
~~to simplify~~
 $(x^2 - 1)^l$
 (3.6)

$$P_l = \frac{1}{2^l} \frac{1}{l!} \frac{d^l}{dx^l} (x^2 - 1)^l$$

Rodrigues' Formula.

Normalization, let $x = 1 - \epsilon$

$$(x^2 - 1)^l = (1 - 2\epsilon + \epsilon^2)^l - 1 = -2\epsilon + \epsilon^2 = -2\epsilon \left(1 - \frac{\epsilon}{2}\right)$$

$$P_l(1-\epsilon) = \frac{1}{2^l} \frac{1}{l!} \left(\frac{d}{d\epsilon}\right)^l (-1)^l (\epsilon^2)^l (1-\frac{\epsilon}{2})^l$$

$$= \frac{1}{l!} \frac{d^l}{d\epsilon^l} \left(\epsilon^l - \frac{l}{2} \epsilon^{l+1}\right)$$

Stokes

$$= \frac{1}{l!} \left(l! - \frac{l}{2} \cdot l(l-1)!\right) = 1 - \frac{l(l-1)}{2} \epsilon$$

3

$(x^2-1)^l$: polynomial of degree 2l

$(\frac{d}{dx})^l \rightarrow$ polynomial of degree = l

parity = $(-1)^l$ orthogonal

$$\frac{d}{dx} [(1-x^2) \frac{dP_l}{dx}] + l(l+1) P_l = 0$$

$$\int_{-1}^1 dx P_{l'}(x) \left[\frac{d}{dx} [(1-x^2) \frac{dP_l}{dx}] + l(l+1) P_l \right] = 0$$

parts.

$$\left[P_{l'}(x) (1-x^2) \frac{dP_l}{dx} \right]_{-1}^1 - \int_{-1}^1 dx \frac{dP_{l'}}{dx} (1-x^2) \frac{dP_l}{dx} + \int_{-1}^1 dx l(l+1) P_{l'} P_l = 0$$

parts again.

or. $l \leftrightarrow l'$, subtract.

$$[l(l+1) - l'(l'+1)] \int_{-1}^1 dx P_{l'}(x) P_l(x) = 0$$

$$(l \neq l') \left| \int_{-1}^1 dx P_{l'}(x) P_l(x) = 0 \right.$$

orthogonal

④

Normalizativ $\int_{-1}^1 dx P_l^2(x) = ??$

① $\int_{-1}^1 dx P_0(x) = \int_{-1}^1 dx \cdot 1 = 2$

② $\int_{-1}^1 dx (x)^2 = \left(\frac{x^3}{3}\right)_{-1}^1 = \frac{2}{3}$

③ $\int_{-1}^1 dx \left[\frac{9}{4}x^4 - 7\frac{3}{2}\frac{1}{x}x^2 + \frac{1}{4}\right] = \frac{9 \cdot 2}{4 \cdot 5} - \frac{3 \cdot 2}{2 \cdot 3} + \frac{2}{4} = \frac{4}{5}$
Extrapolate: $\left(\frac{2}{2l+1}\right) = \frac{2}{5}$

Prove:

Rodrigues $\rightarrow N_l = \int_{-1}^1 dx \left[\frac{1}{2^l l!} \frac{d^l}{dx^l} (x^2-1)^l \right] \left[\frac{1}{2^l l!} \frac{d^l}{dx^l} (x^2-1)^l \right]$

parts l times $\rightarrow \left(\frac{1}{2^l l!}\right)^2 (-1)^l \int_{-1}^1 dx \frac{d^{2l}}{dx^{2l}} (x^2-1)^l$

$$N_l = \frac{(2l)!}{(2^l l!)^2} \int_{-1}^1 dx (1-x^2)^l$$

$x = \cos \theta$ $\cdot \int_0^\pi \sin^2 \theta d\theta$

ITD, induction on l.

(5)

Beta function . $B(p, q) = \int_0^1 dt t^{p-1} (1-t)^{q-1}$

$t = x^2$ $dt = 2x dx$ $B(p, q) = \int_0^1 2x dx (x^2)^{p-1} (1-x^2)^{q-1}$

$x = \sin \theta$ $dx = \cos \theta d\theta$ $B(p, q) = 2 \int_0^{\frac{\pi}{2}} d\theta (\sin \theta)^{2p-1} (\cos \theta)^{2q-1}$

$\int_0^{\frac{\pi}{2}} \cos \theta (\sin \theta)^{2H} = 2 \int_0^{\frac{\pi}{2}} d\theta (\sin \theta)^{2H}$ $2H = 2p - 1$
 $0 = 2q - 1$

$N_0 = B\left(2H + 1, \frac{1}{2}\right)$ $p = 2H$ $q = \frac{1}{2}$

relate to $\Gamma(p), \Gamma(q)$

$\Gamma(p) = \int_0^{\infty} t^{p-1} dt \cdot e^{-t} = \int_0^{\infty} \left(\frac{1}{2}x^2\right)^{p-1} \cdot x dx \cdot e^{-\frac{1}{2}x^2}$

$\Gamma(p)\Gamma(q) = \int_0^{\infty} \left(\frac{1}{2}\right)^{p-1} x^{2p-1} dx \cdot e^{-\frac{1}{2}x^2} \int_0^{\infty} \left(\frac{1}{2}\right)^{q-1} y^{2q-1} dy \cdot e^{-\frac{1}{2}y^2}$

$= \left(\frac{1}{2}\right)^{p+q-2} \int_0^{\infty} r dr \int_0^{2\pi} d\theta r^{2p+2q-2} (\sin \theta)^{2p-1} (\cos \theta)^{2q-1}$

$= \Gamma(p)\Gamma(q) \cdot 2 \int_0^{\frac{\pi}{2}} (\sin \theta)^{2p-1} (\cos \theta)^{2q-1} d\theta$

(4)

$$B(p, q) = \frac{\Gamma(p)\Gamma(q)}{\Gamma(p+q)} \quad \text{was}$$

$$B(l+1/2, 1/2) = \frac{\Gamma(l+1/2)\Gamma(1/2)}{\Gamma(l+1)}$$

$$\Gamma(p+1) = p\Gamma(p) \text{ etc. } \quad \boxed{\Gamma(l+1) = l!}$$

$$\begin{aligned} \Gamma(1/2) &= \int_0^\infty t^{-1/2} e^{-t} dt = \int_0^\infty \left(\frac{x^2}{2}\right)^{-1/2} e^{-x^2/2} \cdot x dx \\ &= \sqrt{2} \int_0^\infty dx e^{-x^2/2} = \sqrt{2} \cdot \frac{1}{2} \sqrt{\pi} = \sqrt{\pi} \end{aligned}$$

$$\begin{aligned} \Gamma(l+1/2) &= (l+1/2)\Gamma(l+1/2) = (l+1/2)(l-1/2)\dots \frac{1}{2}\Gamma(1/2) \\ &= \frac{(2l+1)(2l-1)\dots \cdot 1}{2 \cdot 2 \cdot \dots \cdot 2} \Gamma(1/2) = \frac{(2l+1)!!}{(2)^{l+1}} \sqrt{\pi} \end{aligned}$$

~~$$B(l+1, 1/2) = \frac{(2l+1)!! \sqrt{\pi}}{(2)^{l+1}}$$~~

$$\begin{aligned} B(l+1, 1/2) &= \frac{l! \cdot (\sqrt{\pi})}{\left(\frac{(2l+1)!! \sqrt{\pi}}{(2)^{l+1}}\right)} = \frac{2^{l+1} \cdot l!}{(2l+1)!!} \\ &= 2 \cdot \frac{(2l)!!}{(2l+1)!!} \end{aligned}$$

↓ all the odds × all evens

$$\int_{-1}^1 dx P_{2l}^2(x) = \frac{(2l)!}{[2^l l!]^2} \frac{2(2l)!!}{(2l+1)!!}$$

$$= \frac{\cancel{(2l)!!} (2l-1)!!}{[2^l l!]^2} \frac{2 \cdot (2l)!!}{(2l+1)!!} = \frac{2}{2l+1}$$

$$\int_{-1}^1 dx P_l'(x) P_{l'}(x) = \frac{2}{2l+1} \delta_{l,l'} \quad (3.21)$$

Recurring

"straight forward"

(3.22)

$$\frac{dP_{2l}}{dx} - \frac{dP_{2l-1}}{dx} = (2l+1)P_{2l}(x)$$

~~(3.23)~~

$$(2l+1)P_{2l}(x) - (2l+1)xP_{2l-1}(x) + 2lP_{2l-1}(x) = 0$$

3.24 (a)

$$P_{2l} = \frac{(2l+1)xP_{2l-1} - 2lP_{2l-1}}{2l+1}$$